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ENGINES AND TECHNICAL SPECIFICATION
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THE NEW RANGE ROVER STANDARD WHEELBASE

C|2 MHEV
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& YA = 2S(AWD)
x| =3 (PS /rpm) 350 /4,000
It EF (kg-m / rpm) 71.4 /1,500~3,000
HiZ 1 (co) 2.997
Ml Il / Aelr e 6/4
el 0[0F2 NE
Ml g / AE23 (mm) 83/92.31
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THE NEW RANGE ROVER STANDARD WHEELBASE

C|™ MHEV
mEHA D350
0~100km/h 715 AJZH (2, CHOILHB] EX| AL A) 6.1
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ZE L]
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& A (mm) 380
SEEY HIER{oE|= CIAT
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FAtH 20|13 22|03 A2 |mof] SeHEl TXA A E|0|2(EPB)
5% (kg)*

S 2,775
a2l 5% (kg)

HINlE E2 e 750
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Z|CH HEY (M3 618) 150

Z|CH ArY S Eog 22 5 6,850
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THE NEW RANGE ROVER

STANDARD WHEELBASE

7t&el ve
a2 Egj|Ql P440e P510e P530
Z34 70| 510|Z2|E(PHEV) n - -
EZHADIM s BT rs HE7| rs H7|
& U4 = 1= (AWD) = 1&(AWD) 4= 25(AWD)
A1 =2 (PS / rpm) 440/ 5,500~6,500* 510 / 5,500~6,500* 530/ 5,500~6,000
At £2 (kg-m / rpm) 63.2 /1,500~5,000 714 /1,500~5,000 76.5 /1,800~4,600
HHZ | (cc) 2,996 2.996 4395
A2ig s /A2 g e 6/4 6/4 8/4
AZiG gjojor S BE N2 B V
Al B / AEEF (mm) 83/92.29 83/92.29 89/88.3
er=s] (1) 10.5 10.5 10.5
o;‘HI**
25k aoy| (22521 km/l / H2]: km/kwh) TBD TBD 6.8
CA ] (22 km/l / H7|: km/kWh) TBD TBD 5.6
DAL 2 9| (S2E2: km/l / F7]: km/kWh) TBD TBD 9.0
=2+ CO, BIEE (g/km) TBD TBD 261
s TBD TBD 5
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THE NEW RANGE ROVER STANDARD WHEELBASE

7t&8l PHEV 7t&8l vs
mIMA P440e P510e P530
0~100km/h 7+ AlZH (=) 6.0 55 -
0~100km/h 7+ AJZH (X CHOILHE] 2X] ARS Al) - - 46
£ &2 (km/h) 225 242 250
S Azt
HHETZ] (KWh) 382 382 -
S8 ST /E A TkW SAZH100% ST 7IE) SAIZH100% &8 71E) -
DC Z=X7| 50kW 402(80% =71 7|1%) 402(80% =7 7|1%) -
8 A* 15A12H100% =8 7|%) 15A17H100% =8 7|F) -
ST A012 4o| (m) 5 5 -
7| 2E o|o|E]
31 =4 (PS) 142 142 -
Xt £2 (kg'm) TBD TBD -
Hefo|3
= EFY HIElR|O|E|= C|A S HIElR|O|E|= C|A S HIERO|E|E C]A S
& =E (mm) 400 400 400
22 Ef HIElR|O|E|= C|A S HIER|O|E|= C|A S HIERO|E|E C]A S
2& A8 (mm) 370 370 370
=XFEef0|=2 2e)|0]|3 A2 |mof] SetEl TXA| =Xt 50| 2(EPB) 2e|0| 3 A2 |mof S2tEl TXpA =X 20| 2(EPB) Sefjo]3 A2 |mof SekEl XA =X 20| 2(EPB)
5 (kg)**
N TBD TBD 2.750
ol 5% (kg)
XS Eoi|ged 750 750 750
x| 7401 B 2,500 2.500 3.500
E|CH AAE (M= 1) 100 100 150
IO KHE B El e Ay &% 5,950 5950 6.850
2o M 5 (kg)
|t 2L SIS(I 2 A H) L)) 100 100 100
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THE NEW RANGE ROVER LONG WHEELBASE / LONG WHEELBASE SEVEN SEATS

C|® MHEV
mhelE el Sl
0fIC 810|H2|E(MHEVY) -
EaiADIM Nehied
& YA = 2S(AWD)
A =4 (PS /rpm) 350/ 4,000
It EF (kg-m / rpm) 71.4 /1,500~3,000
HiZ 1 (co) 2,997
Ml Il / Aelr e 6/4
el 0[0F2 B
Al g/ AEEF (mm) 83/92.31
Qfz=H| (1) 15.5
¢id[*
et o] (km/l) 10.1
A G| (km/l) 8.8
&2 Al (km/l) 123
=2t CO, HiEg (g/km) 193
o=l 4
d= B3 SF - A8 IHsY (2IH) 80
MBI S0[ oF2 TA| 2 / 7HSE OIEAF EH(SCRF/GPF) ]

F|E Gl BRSO Ofpt OH|RA & 2AE| -2 T KIZIX] HHILE) 3L OIS0 2t 2

[y

SIHIQ) X0} LI,



THE NEW RANGE ROVER LONG WHEELBASE / LONG WHEELBASE SEVEN SEATS
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0~100km/h 7t AJZH (2 CHOILHE] 2X] AL Al) 63/64
AT &5 (km/h) 234
Hgo|3
=2 EFY HIEO|E|E C]A S
& &HZ (mm) 380
2= Ef HIEO|E|E C]A S
25 28 (mm) 355
ZXH 20|12 2ejjo|3 Ae2|mof SekEl XA =Xt 20| 2(EPB)
5% (kg)*
ANE 5/7
SAEY 2,830/ 2,800
A2 5 (kg)
AE 5/7
XS Eoi|ge 750
Z|cH 21 B 3,500
Z|CH HEE(H=S 1) 150
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At 2E s E5(E2A 8] 100
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THE NEW RANGE ROVER LONG WHEELBASE / LONG WHEELBASE SEVEN SEATS
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THE NEW RANGE ROVER LONG WHEELBASE / LONG WHEELBASE SEVEN SEATS

7t&el ve
HEHA P530
ANE 5/7
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X1 &5 (km/h) 250
EEE!
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At Ed0|= 2ejjo]|3 A2 |mof] SetEl XA =Xt 20| 2(EPB)
=ak (kg)*
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A2 3 (kg)
ANE 5/7
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THE NEW RANGE ROVER DIMENSIONS AND CAPABILITIES

M3 =2 20| X B2+ 8
A1 =0[ 1,870mm XICH =24 2101 900mm'! =0]845.8mm

HoiZ 2u| =0] 61|E
QI XAT(SWB / LWB) 295mm / 294mm %|CH *| 2(SWB /LWB / LWB 7AE) 999mm
Ho XA 219mm | SIEE(SWB / LWB / LWB 7A|E)

996.5mm / 978.3mm / 1,005mm
39 X S =E(LWB 7A|E) 909mm

HH[(SWB / LWB / LWB 7A|E)

1.444mm / 1,444mm / 1,255mm

2 OFX| AtOI2] LAH|(SWB / LWB / LWB 7A|E)
1,057.3mm / 1,057mm / 1,059mm

19 SO HO|(SWB / LWB / LWB 7A|E)
1975.5mm / 2,165mm / 2,175mm

S o] AO|(SWB / LWB / LWB 7A|E)
1.092.6mm / 1,093mm / 1,286mm

Z Fe| X MxH S7HE(SWB / LWB / LWB 7AE)
Dry** 818 /818 / 8572|F
Wet' 1,050 / 1,050 / 1.0612|E4

& Fo] 4O|(LWB 7AIE) 434mm

& T2l Z|tH AT S7F EHLWB 7AE)

OL- OO

e 2 H 2 128 S[o] | ZTY Z2HBZHSWB / LWB / LWB 7A|E) Dry** 2122]&f
ot 7|Z(SWB / LWB) 10.95m / 11.54m o Dry** 1,841 / 2176 / 2.0502]¢] Wet' 3122/
B 7|Z=(SWB / LWB) 11.37m / 11.96m = Wet't 2335 /27276 /26012

2r=eko|M 278 19 X|CH H 22(SWB / LWB / LWB 7A|E)

1,013mm / 1,014mm / 1,014mm
29 AT | IE2(SWB / LWB / LWB 7A|E)
1,027mm / 1,220mm / 1,027mm

AL = A
SZ 2 003mm(0[ H2) 3% A| 2| D2 (LWB 7AE) 864mm

=2, 209mm (0] L2

SUHFEE) 1,702.3mm SH(EE) 1,704.3mm ZH0]A(SWB / LWB / LWB 7A|E) A B C
2,997mm / 3,197mm / 3,197mm BHIT 2t
Mg o= A= (SWB / LWB / LWB 7A/E) He A
Qma = XATI(SWB / LWB) 29.0° 277712527/ 25.2° 34.7°
HE(SwWB /LWB / LWB 7AE) HZ XAD(SWB / LWB) 24.5° 214°/20.1° /201" 26.1°

5,052mm / 5,252mm / 5,252mm
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